Tab2 Efficacy outcomes during treatment period
	Parameter
	A( low molecular heparin+rivastaban)(N=180) &
	B( low molecular heparin)(N=227) ‡
	Test statistic 
	P-value

	Total complications of symptomatic venous thromboembolism  ---No.(%)
	5（2.78）
	4(1.76)
	χ2 (1) =0.479
	0.489

	 ---sex

	 ---Female— No.(%)(the total number of femal)
	5(3.36)
	3(1.6)
	χ2 (1) =1.094
	0.295

	 ---male — No.(%)(the total number of male)
	0(0)
	1(2.5)
	FET
	0.888

	Femal VS male*
	FET (A) 
	0.664

	
	FET (B) 
	0.786

	 ----Age — yr

	≥65---No.(%)
	3(4.17)
	2(1.89)
	χ2 (1) =0.816

	0.366


	<65---No.(%)
	2(1.22)
	2(0.83)
	χ2 (1) =0.013
	0.909

	≥65 VS <65*
	χ2 (A) =0.898
	0.343

	
	χ2 (B) =0.018
	0.894

	 ----Body-mass index

	≥28 — No.(%)
	0（0）
	0（0）
	
	

	24-27.9 — No.(%)
	2(3.51)
	2(2.56)
	χ2 (1) =0.102
	0.749

	18.5-23.9 — No.(%)
	3(4.05)
	2(2.38)
	χ2 (1) =0.359
	0.549

	24-27.9 VS ≥28*
	FET (A) 
	0.543

	
	FET (B) 
	0.54

	18.5-23.9 VS ≥28*
	FET (A) =2.036
	0.424

	
	FET (B) =7.28
	0.593

	24-27.9 VS18.5-23.9*
	χ2 (A) =0.026
	0.871

	
	χ2 (B) =0.005
	0.94

	 ----derlying disease— No.(%)(the total number of derlying disease)
	4(6.06)
	4(5.56)
	χ2 (1) =0.016
	0.899

	 ----underlying disease（include  hypertension,diabetes and so on ）— No.(%)(the total number of underlying disease)
	1(0.88)
	0(0)
	FET
	0.877

	derlying disease VS underlying disease*
	χ2 (A) =4.159
	0.041

	
	FET(B)
	0.016

	 ---physical therapy— No.(%)(the total number of physical therapy)
	0(0)
	0(0)
	
	

	 ---no physical therapy— No.(%)(the total number of no physical therapy)
	5(2.87)
	4(1.8)
	χ2 (1) =0.504
	0.478

	physical therapy VS no physical therapy*
	FET(A)
	0.4

	
	FET(B)
	0.763

	 ---- smoking— No.(%)(the total number of smoking)
	2(28.57)
	2（11.76）
	χ2 (1) =1.008
	0.315

	 ----no smoking— No.(%)(the total number of no smoking)
	3(1.73)
	2（0.96）
	χ2 (1) =0.45
	0.502

	 smoking VS no smoking*
	χ2 (A) =17.94
	0.0001

	
	χ2 (B) =10.62
	0.0011

	 ----drinking— No.(%)(the total number of drinking)
	2(25)
	2(14.29)
	χ2 (1) =0.393
	0.5308

	 ----no drinking— No.(%)(the total number of no drinking)
	3(1.57)
	2(0.94)
	χ2 (1) =0.481
	0.488

	drinking VS no drinking*
	χ2 (A) =15.3
	0.0001

	
	χ2 (B) =13.52
	0.0002

	course of treatment
	5（2.78）
	4(1.76)
	χ2 (1) =0.479
	0.489

	≤5days — No.(%)
	 
	3(1.97)
	χ2 (B) =0.119
	0.73

	5-10days — No.(%)
	 
	1(1.33)
	
	

	5-10days — No.(%)
	1(2.63)
	
	χ2 (A) =0.0038
	0.951

	≥10days — No.(%)
	4(2.82)
	　
	
	


[bookmark: _GoBack]& The patients were taken to hypodermic injection of low molecular heparin after surgery, then continued oral rivastaban after discharged.; ‡ The patients were only taken to hypodermic injection of low molecular heparin; *The effect of every indicators for the incidence of symptomatic thrombosis in the same group; FET, Fisher’s exact test; 

